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and Associativity
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{printf("%s = %s\n", $1, $3);};
{asprintf(&$$, "%s %s +", $1, $3);};
{$$ = $1;1};

{asprintf(&$$, "%s %s x", $1, $3);};
{$$ = $1;1};

{asprintf(&%$$, "%s !", $2);};

{$$ = $2;};

{$$ = $1; };

{ $$ = strdup(yytext);};
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{printf("%s = %s\n", $1, $3);

{asprintf(&$$, "%s %s <", $1,

{$$ = $1; 15
{asprintf(&$$, "%s %s +", $1,
{$$ = $1;1};
{asprintf(&$$, "%s %s x", $1,
{$$ = $1;};
{asprintf(&$$, "%s %s ™', $1,
{$$ = $1; 15
{asprintf(&$$, "%s !, $2);};
{$$ = $2; };
{$$ = $1; 15

{ $$ = strdup(yytext);};
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$3);};



ostfix 3
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Prog :  StmtSeq {}

StmtSeq :  Stmt StmtSeq {}

StmtSeq : {5}

Stmt : Id '=' BExpr ';' {printf("%s = %s\n", $1, $3);};
BExpr :  BExpr '&' RExpr {asprintf(&$$, "%s %s &", $1, $3);1};
BExpr :  RExpr {$$ = $1;};

RExpr : Expr '<' Expr {asprintf(&$$, "%s %s <", $1, $3);};
RExpr . Expr {$$ = $1;};

Expr :  Expr '+' Term {asprintf(&$s$, "%s %s +", $1, $3);};
Expr : Term {$$ = $1;};

Term : Term 'x' Factor {asprintf(&$$, "%s %s x", $1, $3);1};
Term :  Factor {$$ = $1;};

Factor : Expo '~' Factor {asprintf(&$$, "%s %s ™', $1, $3);};
Factor :  Expo {$$ = $1;};

Expo :  '—=' Expo {asprintf(&$s$, "%s !, $2);};

Expo : "(' Expr ')’ {$$ = $2; };

Expo :  Id {$$ = $1;};

1d : Ident { $$ = strdup(yytext);};
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Postfix 3 Example

Execution
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Postfix 3 Example
Execution
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